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QUESTION 1

Which of the following statements about ATP (Available To Promise) checks for material components are correct?
(Choose two) 

A. ATP checks are automatically performed during Material Requirements Planning (MRP) runs. 

B. ATP checks are used to evaluate the free capacity on a certain work center. 

C. ATP checks can be adjusted to also consider future requirements and receipts. 

D. ATP checks can be carried out automatically when releasing a production order. 

E. ATP checks are mandatory for lead-time scheduling. 

Correct Answer: CD 

 

QUESTION 2

You want to produce a finished product only when it is requested by a customer order in make-to- order production.
However, all assemblies need to be procured beforehand. 

How can you fulfill these requirements in SAP ECC? (Choose two) 

A. Use strategy 30 (production by lots) for the finished product and strategy 70 (planning at the assembly level) for all
assemblies in the bill of material. 

B. Use strategy 40 (planning with final assembly) for the finished product and strategy 70 (planning at the assembly
level) for all assemblies in the bill of material. 

C. Use strategy 50 (planning without final assembly) for the finished product and no strategy for all assemblies in the bill
of material. 

D. Use strategy 20 (make-to-order production) for the finished product and strategy 70 (planning at the assembly level)
for all assemblies in the bill of material. 

Correct Answer: CD 

 

QUESTION 3

You want to use the different options for planning in SAP ECC. 

What is the correct sequence of the planning procedures? 

A. Sales and operations planning -> Demand management -> Long-term planning -> Material requirements planning ->
Capacity planning 

B. Material requirements planning -> Demand management -> Sales and operations planning -> Long-term planning ->
Capacity planning 

C. Long-term planning -> Sales and operations planning -> Demand management -> Material requirements planning ->
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Capacity planning 

D. Demand management -> Sales and operations planning -> Capacity planning -> Long-term planning -> Material
requirements planning 

Correct Answer: A 

 

QUESTION 4

Which of the following statements about the planning functions available in SAP ECC is correct? 

A. Master production scheduling (MPS) refers to preferred planning of important materials. 

B. Material requirements planning (MRP) includes automatic capacity leveling. 

C. Long-term planning (LTP) is a long-term form of forecast planning. 

D. In demand management (DM) material shortage situations are identified and corresponding receipt elements are
created. 

Correct Answer: A 

 

QUESTION 5

What is SAP Solution Manager? 

A. A part of the SAP ECC System 

B. A managed system in a system landscape 

C. A stand-alone system that communicates with other systems in a system landscape 

D. An add-on industry solution 

Correct Answer: C 
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